BEEESS

FEMZEDIRERNRE

P MEE

4 MBEEERE



FEME (BERNRR)

% MBEBEERE

[#=2 GEERR)

i1 e E 2E
HEAEH
1% 1,145,763
KIBRBEREES
1= 1,145,763
EERE

1% 1,145,763

EERE REHEMR 100X, BMER(2FEZY) 1.00X, i 1.00# . H¥EH, 1.00X. HaTiHE 1. 00E,
1= 1,140, 663 7 HTIRER 1. 00, $RES/ERL 1. 00X

EEEE EBHBER 1.00=
1= 5,100




FE M (FERE R

% MBEBEERE

(=3 (GEREEH) |

B HE &% &E
BEANEE
1= 1,010, 302
ET
11X 469, 698
AEFEE
1= 1,480, 000
BRI
1= 135, 461
HEAGE
11X 134,120
HERE
1= 1,341
Z ORI
1= 72,223
E AL
11X 207, 684
—REEEZ
1= 102, 316
HEREE
11X 310, 000
EEES T
11X 1, 790, 000
% TElfE
1= 1,790, 000




